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(2) 103/(Set : A)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G [T -—
General Instructions : —

() @ g7 Sar &

All questions are compulsory.

(i) 5 7797 7 Z7 34 Fo7 & A AW GOS0 § GANTH T E

This question paper consists of 34 questions in all which are divided into
four Sections : A, B, Cand D :

G -9 57 G€ H1 G 16 T F7 16 597 &, Jd% 597 1 e & &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G - § 59 % § 17 7 22 7% 7 6 J97 &, J9% J97 2 6% & &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G - 7 : 57 G 723 & 30 7% 7T 8 97 &, FA% 97 4 3 H &l

Section - C : There are 8 questions from 23 to 30, each of 4 marks.

103/(Set : A)



(3) 103/(Set : A)
%€ - 7357 G 431 @34 7% T 4 97 &, A% F7 5 5% H &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(iii) @Y€ - T F § go7 7 SE A%y 79 T4 &1 F7H & T Jo7 F FT &

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

s — o
SECTION - A
1. fF=fofed & § S9-9 ge iy 78 2 ? 1
(a) V9 B) 8
(C) <81 (D) 1.35

Which of the following is not a rational number ?

(&) 9 B) 8
(C) 81 (D) 1.35
2. I 225 X 135 % H.C.F. 458, @ S L. C. M. & : 1
(A) 675 (B) 1025
(C) 835 (D) 345

If H. C. F. of 225 and 135 is 45, then their L. C. M. is :
(A) 675 (B) 1025

(C) 835 (D) 345

103/(Set : A) P.T.O.



(4) 103/(Set : A)

3. |R 4x% -4x+1 % I ¢ 1
@ -5 B 15
© 55 D) .1

The Zeroes of Polynomial 4x° —4x+1 are:

1 1 1
(A) _57_5 (B) 17Z
1 1 1
(& D) (D) 571
4. =1 & F=-a1 T faaa & 7 1

(A)  (x=1) (x+3) = (x=7) (x+ )

(B) (2x-1) 2x+ 1) = (x-2)?

(C) (x+4)° =3x(x+1)

(D) 4x?+5=02x+7)?

Which of the following is a quadratic equation ?
(A) (x-1) (x+3) = (x=7) (x+5)

(B) (2x-1) 2x+ 1) = (x-2)°

(C) (x+4)3 =3x(x+1)

(D) 4x?+5=02x+7)?

103/(Set : A)



(5) 103/(Set : A)
5. Wa® FHEHTH & FH x - 2y + 3 =0T 3x—- 6y + 9 =0 FH &7 o : 1

(A) T T &q

(B) ®% & T

(C) STURFE oM® &

(D) ™ q ®E T

Solution of a pair of linear equations x— 2y + 3 =0 and 3x- 6y + 9 = 0 will be :
(A) Unique solution

(B) No solution

(C) Infinitely many solutions

(D) None of these

6. A.P.3,7, 11,15, .....% 10df G & : 1
(A) 43 (B) 38
(C) =37 (D) 39

The 10th term of the A. P. 3,7, 11, 15, ..... is :

(A) 43 (B) 38
(C) -37 (D) 39

7. A% fHE A P. @ e X et 98 HEM: 4 X -8 &, @ 39 Bedl W © ¢ 1
A) -6 (B) 14
(€ -8 (D) -2

103/(Set : A) P.T.O.



(6) 103/(Set : A)
If 3rd and 9th term of an A. P. are 4 and -8 respectively, then its 6th term is :

A) -6 (B) 14
(C) -8 (D) -2
8. G & DE |BC?I EC & TR A il 1

A

1.5%1 a9

D E
>N

B C

In figure DE ||BC. Find the length of EC.

A

1.5?/\10m

<D E

N\ /

7\
B

C

9. I} & THEY PIYS & &%l 4 : O % AU H &, A ITbl I GSUSAT b1 ST B 1
(A) 2:3 (B) 16:81

(€) 3:2 (D) 4:9

103/(Set : A)



(7) 103/(Set : A)

If areas of two similar triangles are in the ratio 4 : 9, then ratio of their
corresponding sides are :

A) 2:3 (B) 16:81
(€) 3:2 (D) 4:9

10. galt (4,2) R (-1, -) B T A T4 B : 1
(A) 35 B) +/34
(C) /32 (D) 6

The distance between the points (4, 2) and (-1, —1) is :

(A) /35 (B) 34
(©) 32 D) 6

11. 39 fg & Fesis, S fSgert (4, -3) T4 (8, 5) &l SIS+ aK (WETS & HA=<RH &9 4

3:1% U ¥ fawifsa & &, ¢ 1
(A) (=3, 9) (B) (4, -2)
€ 637 (D) (7, 3)

The coordinates of the point which divides the line segment joining the points
(4, =3) and (8, 5) in the ratio 3 : 1 internally are :

@A) 3,95 (B) (4, -2)

€ B,7) (D) (7, 3)

103/(Set : A) P.T.O.



(8) 103/(Set : A)

12. 9sec’?A-9tan’ A & UF & : 1
(A) 1 (B) 8
€ 9 (D) 0

The value of 9sec? A—9tan? A is :

A 1 B) 8
€ 9 (D) 0

13. T T B oo AT W@ & T E 1
A circle can have ............. parallel tangents at the most.

14. 7 6 I BU@TS H §TEA © - 1
" i ®
© S D

Area of sector of the circle of angle 6 is :

2
nr 0 Tr<o
(A) S (B) .
180 360
2
nr 6 Tr<0
(& S (D) °
360 90

103/(Set : A)



(9) 103/(Set : A)
15. R % g P O % 9 6l 99 W PA iR PB W@l &R 80° & HIT W g

g, @ LPOA S & : 1
(A) 50° (B) 60°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) S0° (B) 60°
(C) 70° (D) 80°
16. Ber 2.1 9 A O & N B IO A% © 1
(A) 80.3 1 (B) 55.44 {4
(C) 191.5 {41 (D) 47.09 {4

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 cm? (B) 55.44 cm?
(C) 191.5 cm? (D) 47.09 cm?
g - §
SECTION - B
17. TN % 5-+/3 T FuAT T B 2

Show that 5 —\/5 is an irrational number.

103/(Set : A) P.T.O.



18.

19.

20.

21.

(10) 103/(Set : A)
WWWWWWW%WHWWWW%@T—I%I 2

Find the quadratic polynomial, the sum and product of whose zeroes are

% and —1 respectively.

k% g 99 & fau fy=foRad e adien & o & 8 ? 2
(k-=1)x+(k+1)y=3k-1
2x+3y=7

For what value of k does the following pair of linear equations have infinite
number of solutions ?

(k-=1)x+(k+1)y=3k-1

2x+3y=7

T g A9 % 3 &0 Bowr g g9 & &= @ 5 8 H gl W B, 39 g9 W wWIRar #
Si= RN E 2

Find the length of the tangent from a point A which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

k® 68 a9 & e e @ier 2 ke +9=0 & Jd & B ? 2

For what value of k the roots of the quadratic equation x2-kx+9=0 are

equal ?

103/(Set : A)



(11) 103/(Set : A)
22. 52 Tl # W THR B T Th AL H TGSl § § TH G M@l SQr 81 @ T H©
IR a1l Ol T XA bl HiesdT S Hiforg) 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.

gig -9

SECTION -C

23.stf%\q«—vrés‘raﬁ%,aaw%amﬁlww%aﬁ?asiaaﬁ%,maﬁ
8 Sig i oar B1 a8 R s #ifom 4

A fraction becomes é when 1 is subtracted from the numerator and it becomes

l when 8 is added to its denominator. Find the fraction.

24. = fEaQ @Hi®r & gal & TPl 9 BT R g F ke &, @ & A w2 4
2x% —6x+3=0

Find the nature of roots of the following quadratic equation. If real root exist,

then solve it :
2x% —6x+3=0
25. O 3 Al fea gend 7 & e ® 7 4
How many three digit numbers are divisible by 7 ?

103/(Set : A) P.T.O.



(12) 103/(Set : A)
26. 10 W T TF €G! W AR W e W ¥ W 8 # il $ar W Rum & fagd %
T &l SER & MR § Higl & frew RR @ gl s s 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.

27. P& 99 § H6G, AR g A2, 3), B2, P 3R C(6, -3) W@ B 4

Find the value of Pif the points A(2, 3), B(2, P) and C(6, —3) are collinear.
28. IR A, BR CRIYS ABC & i &, o feamsy fF : 4

. (B+Cj A
sin =cos

If A, Band C are interior angles of a triangle ABC, then show that :

. (B+Cj A
S1n)| = COS —
2 2

29. 10 &l B A ©F 9 H B ST R W Th GEHT I 31 WG FeUEs B A
ST T 4

A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.

103/(Set : A)



(13) 103/(Set : A)
30. % U H UF SR GH A 51 WAHAT 5 HioQ 6 oI g 4
() UTh F9Y HE B,
(i) U v e B
A die is thrown once. Find the probability of getting :
(i) a prime number,

(ii) an odd number.

gug - g
SECTION - D
31. 7 To & Haq & RFER q U dad AR & R & I=ET T 60° T R 0B UG H
JTTIT BT 45° Bl AR B HAS T BT 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height
of the tower.

HAYAT
OR
Rig ifoTe
1+sin6 cosﬁ _2secd
cos 0 1+sin®
Prove that :
1+sin® cosB — Dsecd

cos 9 1+sinb

103/(Set : A) P.T.O.



(14) 103/(Set : A)
32. 6 {Ul Bowr & T g WifEW qu d= § 10 9 X R U g § g9 W weRer 3 &
TEAT HIOTT T I gal A 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.

33. U% R B 3.5 & AW UF o & AHR H e, S S€ B aa TF Fdia W)
AR 31 36 fade @ €@t Sar 15.5 o 31 39 Rade & @ qOE &ewd |
By 5

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

3TeE

OR

Bregr 4.2 @ ad o1g & U Mo B AR Bl 6§ al Th 999 & &9 F @ S
Bl I B HAR T BT

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a

cylinder of radius 6 cm. Find the height of the cylinder.

103/(Set : A)



(15)

103/(Set : A)

5

34. iR ARl 35 TR &1 deRar &Y (Sfer ®) S &1 AT ARl &% S i
R & (% ) 45-55 55-65 65-75 75-85 85-95
TR FEA 3 10 11 8 3

The following table gives the literacy rate (in %) of 35 cities. Find the mean

literacy rate :

Literacy rate (in %)

45-55

55-65

65-75

75-85

85-95

Number of cities

10

11

103/(Set : A)
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(2) 103/(Set : B)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @4 geT sfard &

All questions are compulsory.

(i) 3G T7-07 § 7T 34 F97 & A X G - 3, § FHCT A TR TTE

This question paper consists of 34 questions in all which are divided into
four Sections : A, B, Cand D :

FT -3 378G 71 716 T FT 16 J97 &, J9% J97 1 &% % &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G- §: 359 % F17 722 7% 37 6 J97 &, J9% J97 2 9% & &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.

G - ;59 G5 723 § 30 7% 7 8 97 &, J9% J97 4 5 & &/

Section — C : There are 8 questions from 23 to 30, each of 4 marks.

103/(Set : B)



(3) 103/(Set : B)
G - 7357 @€ 731 @34 T 7T 4 97 8, J9% F97 5 3 # &1

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 & aanr® fawey /7 T 81 I @ G 597 B GAA 8

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

gug — 3
SECTION - A
1. fFfafeg § @ d9-at d@en oRag 78 ' 7 1
(a) 16 B) 9
(C) +10 (D) 0.35

Which of the following is not a rational number ?

A) 16 B) 9
(©) +10 (D) 035

103/(Set : B) P.T.O.



(4) 103/(Set :
2. I 26X 91 % H.C.F. 138, @ S L. C. M. B :

(A) 184 (B) 183
(C) 182 (D) 181
IfH. C. F. of 26 and 91 is 13, then their L. C. M. is :
(A) 184 (B) 183

(C) 182 (D) 181

3. |RE x2+7x+10 B LTIB ¢ :
@A) (2,9 (B) (-2,-9)

€) 2,95 (D) (2, -9)

The Zeroes of Polynomial x2 +7x+10 are :
A) (2, 5) B) (-2, -9

€) 2,95 (D) (2, -9)

4. = § FF-A1 6T faEm § 7
(A)  (x+1)% =2(x-3)
(B) (x+4)> =3x(x+1)
(C) 4x%+5=(2x+7)>

(D) (x=2) e+ 1) = (x=1) (x+3)
103/(Set : B)



(5) 103/(Set : B)

Which of the following is a quadratic equation ?
(A)  (x+1)? =2(x-3)

B) (x+4)° =3x(x+1)

(C) 4x%+5=(2x+7)>

(D) (x=2) (x+ 1) =(x~1) (x+3)

5. % FEEHTH & FH x— 2y + 5= 0T 3x— 6y + 10 = 0 & &F o : 1
A)  IfEdT T & (B) i3 & &l
(C) STURFE ™% & (D) T® 9 HiE 7@l

Solution of a pair of linear equations x— 2y + 5 =0 and 3x—- 6y + 10 = 0 will be :

(A) Unique solution (B) No solution
(C) Infinitely many solutions (D) None of these
6. A.P.2,7,12,....% 10d1 T  : 1
(A) 40 (B) 42
(C) 45 (D) 47

103/(Set : B) P.T.O.



(6) 103/(Set : B)
The 10th term of the A. P. 2, 7, 12, ..... is :

(A) 40 (B) 42
(C) 45 (D) 47
7. A% fHET A P. @ dEw X 797 U AT 5 X 9 ¥, O IGe 1191 U ® ¢ 1
(A) 13 B) 14
(C) 15 (D) 16

If 3rd and 7th term of an A. P. are 5 and 9 respectively, then its 11th term is :

(A) 13 (B) 14
(C) 15 (D) 16
8. I # DE ||BCRI AD® TR F1d Hifor A 1
/\1.8 et
D E
N\
727 5.4 {
B C
A
In figure DE || BC. Find the length of AD. /\1'8 cm
D E
7.2 cm 5.4 cm
B C

103/(Set : B)



(7) 103/(Set : B)
9. I & THEY PIYS & B 9 : 16 % UK H &, o ITebl I oAl b1 STgaw B : 1

(A) 81:256 (B) 9:16
(C) 3:4 (D) 3: 4

If areas of two similar triangles are in the ratio 9 : 16, then ratio of their
corresponding sides are :

(A) 81 :256 B) 9:16
(C) 3:4 D) 3:+4

10. fagalt (-5, 7) 9% (-1, 3) & /= & g0 & ¢ 1
(A) 442 (B) 342
© 5v2 (D) V34

The distance between the points (-5, 7) and (-1, 3) is :

A) 442 (B) 342
(C) 5v2 (D) /34

11. 39 fg & deris, o famgatl (4, —1) @1 (-2, -3) & ST d WIS Hl A=<k &9 §
2: 1% Igu § i Hear &, € 1

5 5
A) [0,5) ®) (—5,0)
7 7
©) [o,—gj D) (g,oj

103/(Set : B) P.T.O.



(8) 103/(Set : B)

The coordinates of the point which divides the line segment joining the points
(4, -1) and (-2, —3) in the ratio 2 : 1 internally are :

12. 5sec? A-5tan’ A & WF & : 1
(A) 1 (B) 2
€ 9 (D) 5

The value of SSec2 A-5 tan2 A is:

(A) 1 (B) 2
€ 9 (D) 5
13. g9 &l & forgall IX fress HT arel @B Fed Bl 1
A line intersecting a circle in two points is called a ............. .
14. 0 Y I BreugTs $ @ 99 $ d9E © 1
nr 0 2nr 6
A 180° (B) 180°
nr 0
© Zeor D) T & A

103/(Set : B)



(9) 103/(Set : B)

Length of an arc of a sector of angle 0 is :

nr 0 2nr ©
(A) s (B) .
180 180
(@) nr 9 (D) None of these

360°

15. IR % g P& O %% 9 fhehl g0 W PA &R PB @sR@EM &R 70° & &9 T gl

g, @ ZPOA S & : 1
(A) 110° (B) 55°
(C) 60° (D) 70°

If tangents PA and PB from a point P to a circle with centre O are inclined to

each other at an angle of 70°, then ZPOA is equal to :

(A) 110° (B) 55°
(C) 60° (D) 70°

16. Brer 2.8 ¥ A O & M B IO A © ¢ 1
(A) 98.98 I (B) 98.56 Q41
(C) 97.56 a1 (D) 98.38 qHI

103/(Set : B) P.T.O.



(10) 103/(Set : B)

Surface area of sphere of radius 2.8 cm is :

(A) 98.98 cm? (B) 98.56 cm?
(C) 97.56 cm? (D) 98.38 cm?
gog -
SECTION - B
17. 33T &% 3++/5 TH UREy e 2 2

Show that 3+ \/g is an irrational number.

18.@WWWWWW%WWWWQT:—%@T%% 2

Find the quadratic polynomial, the sum and product of whose zeroes are

1 1
—— and — respectively.
) ) p y

19. k & 8 A9 & e fFe=fafad W @6l & g9 &1 35 &7 78 & ¢ 2
3x+y=1

2k - 1)x+ (k- 1)y =2k + 1

103/(Set : B)



20.

21.

22.

23.

(11) 103/(Set : B)

For which value of k will the following pair of linear equations have no
solution ?

3x+y=1
2k-1)x+(k-1y=2k+1

W RgATNTH I & o= 4 5 8 A g0 W e, g0 # WAl & 796 4 I 81 g9
%l FBredr s i 2

The length of a tangent from a point A at a distance 5 cm from the centre of the
circle is 4 cm. Find the radius of the circle.

k% fg A & foe faEd @@t 2x2 +kx+3=0 & I aXER & 7 2

For what value of k the roots of the quadratic equation 2x2 +kx+3=0 are
equal ?

52 Tl @ TS TR Bl T TH a9 B Tee H § TF Tl ek STl 8 A T
SIESTE Al Ol Ml A el Aehdl Fd Hiorg) 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a King of red colour card.

gig -9
SECTION -C

R AT T I e X ATT 190 AR 1 TRa T g e d 1 I8 g,
a‘r%’%s‘raﬁ%w@fﬁﬂaﬁaﬁﬁm 4

103/(Set : B) P.T.O.



24.

25.

26.

27.

(12) 103/(Set : B)

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to denominator. Find the fraction.
=t feEma qeiieher & ool 1 Sl S B A g T 8, @ e ol i 4
9x2 —6x+1=0

Find the nature of roots of the following quadratic equation. If real root possible,

then solve it :

9x2 —6x+1=0

A ofet Al e ded 6 @ fawea § 7 4

How many three digit numbers are divisible by 6 ?

18 M &9 UF FHER T F U MR § F IR H Th [ J31 goTl & T aR & gad
R o G2 & e g1 21 EH B R | G A e g W Ml S 6 a) N @
STefh O & qE 24 H B 4

A wire attached to a vertical pole of height 18 m is 24 m long and has a stake
attached to the other end. How far from the base of the pole should the stake be

driven so that wire will be taut ?

R& AM 719 Ak, ARk g A(7, -2), B(5, 1) ¥R C(3, R) WE R 4

Find the value of R if the points A(7, -2), B(5, 1) and C(3, R) are collinear.

103/(Set : B)



28.

29.

30.

(13) 103/(Set : B)
afe A, BAR C BT ABC & da:& &, @t feamsy & 4

[A + BJ . C
cos =sin—
2

If A, Band C are interior angles of a triangle ABC, then show that :
(A + Bj . C
cos =sin—
2 2

10 & Bredr It T g9 i HiE SiEl B 9 60° H BT TR &1 W PoUES H G
S I 4

A chord of a circle of radius 10 cm subtends an angle of 60° at the centre. Find

the area of the corresponding sector.

TF I H 3 A AN 5 P S ¢l 30 AN H G TH AT AGHAT BN ST &1 TR FA
iehaT & 6 I 4

() O E,
(ii) T Fel 8 ?

A box contain 3 red balls and 5 black balls. A ball is drawn at random from the
bag. What is the probability that the ball drawn is :

(i red,

(i) notred?

103/(Set : B) P.T.O.



31.

32.

33.

(14) 103/(Set : B)

gug - g

SECTION - D
7 Hlo A Mo B REX q UF dad Fa¥ & R H IAT R 45° & AN 36 UE H
T BT f 45° 3| AT B HAR AT B 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 45° and the angle of depression of its foot is also 45°. Determine the
height of the tower.

YT
OR
g #ivT :
1/M =secA+tanA
1-sinA
Prove that :

me =secA+tanA
1-sinA

5 @ Brer &1 w gq Sy 9o & 4 9 AW ¥ Rud o g | g9 W wsiar g @l
T BT T I T A 5

Draw a circle of radius 5 cm. From a point 9 cm away from its centre, construct

the pair of tangents to the circle and measure their lengths.

Rl Sl & 50 =Rl @ S ASIgl &1 ded faA T Bl e dfNe Aeigdl S AT 05

e wogl (B9l ®) | 500-520 | 520-540 | 540-560 | 560-580 | 580-600

ol @ G 12 14 8 6 10

103/(Set : B)



34.

(15) 103/(Set : B)

The following table gives distribution of daily wages of 50 workers of a factory.

Find the mean daily wages of workers :

Daily Wages (in ) 500-520 | 520-540 | 540-560 560-580 580-600

Number of Workers 12 14 8 6 10

S H 0% YA Th 90 b AHER H ol T8 a9 B T 0H-Th A @ gl 81
HHA B dars 14 Bl © o) SEa & 5 el 31 S ToE &5Ed S St 5

A medicine capsule is in the shape of a cylinder with two hemisphere struck to
each of its ends. The length of entire capsule is 14 mm and diameters of the

capsule is 5 mm. Find its surface area.

YqT
OR

Bregr 3.5 A4l A o1 & TF Mol H U Begr 5 8 ad T 9 & ®9 F S S
B AT H HAR T BT

A metallic sphere of radius 3.5 cm is melted and recast into the shape of a

cylinder of radius 5 cm. Find the height of the cylinder.

103/(Set : B)
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(2) 103/(Set : C)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U Fo7 % FUT 37 @ Y4 I€ Ghaa # @ [ 59T-74 {7 7 @@ & Yher 3 U 54
T 7 g 4 qrar w@hwe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT sfard &

All questions are compulsory.

(i) 5 F97-UF 7 Z7 34 Fo7 & A AW GOS0 § G TH T E

This question paper consists of 34 questions in all which are divided into

four Sections : A, B, Cand D :

GE -9 57 GC 71 G 16 T 7 16 97 &, % 597 1 7% & &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G- §: 359 % F17 722 7% 37 6 J97 &, J9% J97 2 9% # &I

Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G - ;59 G5 723 § 30 7% 7 8 97 &, J9% 97T 4 5 & &1

Section - C : There are 8 questions from 23 to 30, each of 4 marks.

103/(Set : C)



(3) 103/(Set : C)
%€ - 757 G 431 @34 7% T 4 97 &, J9% F97 5 5 F &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 7 ofani® fawey /7 79 81 37 @ & 597 B g &

Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

gug — 3
SECTION - A
1. Fr=fafag & @ s9-91 9@ ay 78 & ? 1
(a) 18 B) V16
(C) 1.25 (D) /36

Which of the following is not a rational number ?

A) 18 B) 16
(C) 1.25 (D) /36
2. I 120 X 225 H.C.F. 158, A ST L. C. M. & : 1
(A) 1600 (B) 1800
(C) 2000 (D) 2200

103/(Set : C) P.T.O.
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If H. C. F. of 120 and 225 is 15, then their L. C. M. is :

(A) 1600 (B) 1800
(C) 2000 (D) 2200
3. forgell (-1, -1) X (4,2)F & H Fq ® - 1
®) V32 B V18
€6 (D) V34
The distance between the points (-1, —1) and (4, 2) is :
® V32 B V18
€6 (D) V34

4. 7 & gHEW B @ T IO 3: 4 F AR A 8, A T FEE & A% F ST ©
1
(A) V3 :2 (B) 3:4
(C) 9:16 (D) 16:9

If corresponding sides of two similar triangles are in the ratio 3 : 4, then ratio of
their areas are :

(A) 3 :2 (B) 3:4
(C) 9:16 (D) 16:9
5. T 6 A BFIETS FH HTHA © 1
(A) Tr O ®) nr26
180° 180°
2 2
©) Tr<0 (D) Tr<o
90° 360°

103/(Set : C)
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Area of sector of the circle of angle 0 is :

(A) nr 0 (B) nr2e
180° 180°
©) nre (D) nre
90° 360°
6. I T g P& O #% a fhell g0 W PA &R PB TsRET &R 80° & &7 T g
g, a ZPOA S ® : 1
(A) 60° (B) 50°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) 60° (B) 50°
(C) 70° (D) 80°

7. Begr 2.1 9 At o1 & W B TR S © 1
(A) 80.3 W’ (B) 191.5 a9
(C) 55.44 U1 (D) 47.09 41

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 cm? (B) 191.5 cm?
(C) 55.44 cm? (D) 47.09 cm?

8. frdl g &l @@ I/ ........... forg/fergall T wicrese &Y B 1
A tangent to a circle intersects it in ............. point(s).

103/(Set : C) P.T.O.
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9. 6sec’A-6tan’ A H 9N 2 : 1
(A) 6 (B) 1
) 9 (D) 7

The value of 6sec? A—6tan? A is :

(A) 6 (B) 1
€ 9 (D) 7
10. TR 4x* -4x+1 & IAB ¢ 1
1 1 1
A) 1, = B -—, ——
@ 1 B -5 -
1 1 1
C) —,1 D) =, =
© D)
The Zeroes of Polynomial 4x2 —4x+1 are:
1 1 1
A 1, — B) ——, ——
@ 1 B -5
1 1 1
Cc) —,1 D) =, =
© 3 (D) 2 5
11. Frfafed § Se-ar @i fEam @ ? 1

(A) (x-1) (x+3)=(x—=7) (x+5)
(B) (x+4)> =3x(x+1)

(C) (@x-1) 2x+ 1) = (x-2)?
(D) 4x2+5=(2x+7)>

103/(Set : C)
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Which of the following is a quadratic equation ?
(A) (x-1) (x+3)=(x—7) (x+5)
B) (x+4)3 =3x(x+1)
(C) (@x-1) 2x+ 1) = (x—-2)?
(D) 4x2+5=(2x+7)>
12. g% THETT & FH x— 2y + 3 = 0 T 3x— 6y + 9 = 0 H & BT : 1
(A) oHfE o '
(B) I3 & Tl
(C) SR I B
(D) T & FE T

Solution of a pair of linear equations x— 2y + 3 =0 and 3x—- 6y + 9 = 0 will be :
(A) Unique solution

(B) No solution

(C) Infinitely many solutions

(D) None of these

13. A.P.3,7,11,15, ... % 129f &5 & : 1
(A) 39 (B) 49
(C) 52 (D) 47

103/(Set : C) P.T.O.
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The 12th term of the A. P. 3, 7, 11, 15, ..... is :

(A) 39 (B) 49
(C) 52 (D) 47

14. IR fH A. P. & 90 ] AT I8 HAT: 4 AR -8 2, O IHH Bedl T 2 1
(A) -6 B) -2
€ -8 (D) 14

If 3rd and 9th term of an A. P. are 4 and —8 respectively, then its 6th term is :

(A) -6 (B) -2
(C) -8 (D) 14
15. & & DE ||BCT EC % T&F §Id S| A 1
1.5 ?/\2 |
/D E
\ /
3
B C
In figure DE || BC. Find the length of EC.
A

1.50}/\2 cm

D E
7\

B C

103/(Set : C)



(9) 103/(Set : C)
16. 39 fag & Fdaie, S gl (4, -3) @1 (8, 5) & SIS did IWRTS H A=<k &7 4

3:1% Igu H foir e &, € 1
A (3,9 (B) (4, -2)
€ 6.7 (D) (7,3)

The coordinates of the point which divides the line segment joining the points
(4, —-3) and (8, 5) in the ratio 3 : 1 internally are :

A) (3,9 B) “4,-2)
< B&,7) (D) (7, 3)
gog - §
SECTION - B
17. BT F 7+/5 TH URAG & B 2

Show that 7 + \/g is an irrational number.

18. 52 TWl % TV TER Bl B Th AT H TgSl § § TH G MU A 31 A T H@
T 91l T 1T XA el HIedT F hitorg| 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.

103/(Set : C) P.T.O.



19.

20.

21.

22.

(10) 103/(Set : C)
k® 68 a9 & e e @iieter 2 —kx+9=0 & Y@ T B ? 2

For what value of k the roots of the quadratic equation x2-kx+9=0 are

equal ?

U fg P A i 3 B Brewr Al 99 & %= § 5 8 1 g W B, 39 g9 W W &
Si=l RN E 2

Find the length of the tangent from a point which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

T & ague S S S EE & AN a9 % AL 4 9R 18 2

Find the quadratic polynomial, the sum and product of whose zeroes are 4 and

1 respectively.

k& 58 AW & fe fFfaied Was Tl & o ed e ¢ 2
(k—1)x+(k+1)y=3k-1
2x+3y="7

For what value of k does the following pair of linear equations have infinite
number of solutions ?

(k=1)x+(k+ 1)y=3k-1

2x+3y=7

103/(Set : C)



(11) 103/(Set : C)
grE - g

SECTION - C
23. IR A, BAR CRIYS ABC & siaam &, @ fawmy % : 4

. (B+Cj A
sinl =cos

If A, Band C are interior angles of a triangle ABC, then show that :

) (B+Cj A
S1n| = COS —
2 2

24. 10 G BF9T A T& g9 @ B ST R W TH GEHOT SR &1 T FUES # aAwd
ST it 4

A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.

25. TF T H U&H I) Bepl Sl &1 Wil Sd HivTe 6 o §e ¢ 4
(i) U 9T HET ¥,
(i) UH fawg gEm B

103/(Set : C) P.T.O.



26.

27.

28.

29.

(12) 103/(Set : C)

A die is thrown once. Find the probability of getting :
(i) a prime number,

(i) an odd number.

Q%ﬁqv—rr%s‘raﬁ%,aaw%a#ﬂﬁlmw%aﬂ?a%%éaﬁﬁ%,maﬁ
8 g faar <m B a8 R 3 @it 4

. 1 . .
A fraction becomes 5 when 1 is subtracted from the numerator and it becomes

% when 8 is added to its denominator. Find the fraction.

=T TaEma @Hiehor & il i ebicl S IOl A Gl 1 AR &, O & a1 i : 4
2x% -6x+3=0

Find the nature of roots of the following quadratic equation. If real root exist,

then solve it :

2x% —6x+3=0

A ofet Al e ded 7 @ faee § 7 4

How many three digit numbers are divisible by 7 ?

10 #f T % H¢l & dOR W febm W 9 W 8 W %l Hor W R & Ragal @&
TR B AR & oMER @ &t & e R @ g S ik 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.

103/(Set : C)
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30. P& 7AW §@ &M, AR g A2, 3), B2, P 3R C(6, -3) W& B 4

31.

32.

Find the value of Pif the points A(2, 3), B(2, P) and C(6, —3) are collinear.

gug -

SECTION -D

o Rge Brer 3.5 & 9 T S & AR M g, S IE Bl AW T SN W)
FERING 21 39 faam @ dgf Sar 15.5 &N 21 39 Redm @& dl g aewd S
By 5

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

e
OR
Brear 4.2 @ At o1g & T Mo B AR Bl 6 FH 9 Th S99 & &9 F @l Sl
B AT H HAR T BT

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a
cylinder of radius 6 cm. Find the height of the cylinder.

frfofea aRell 35 TR &t @merar X (faer &) a9l &1 " "R & 69 Hie 2 5
HERAT & (% H) 45-55 55-65 65-75 75-85 85-95
TR & qe& 3 10 11 8 3

103/(Set : C) P.T.O.



literacy rate :

(14)

103/(Set : C)

The following table gives the literacy rate (in %) of 35 cities. Find the mean

Literacy rate (in %)

45-55

55-65 65-75

75-85

85-95

Number of cities

10 11

33. 7 Hio % 9aq & RER § Th dad oY & RFER & IET ST 60° & AR 6B UG &l

JTGTHT BT 45° B AT P Hag F0d BT

From the top of a 7 m high building, the angle of elevation of the top of a cable

tower is 60° and the angle of depression of its foot is 45°. Determine the height

of the tower.

g FifTT

Prove that :

103/(Set : C)

AYdqr
OR
1+sin® cosﬁ —0sec
cos 0 1+sin®
1+sin® cosje —0sech
cos 0 1+sin®




(15) 103/(Set : C)
34. 6 QU Bl & TF g WifET q° d= § 10 9 ¥ R U g § g9 W weRar 3 &
TEAT HIOTT T I gal A 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.

103/(Set : C)
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(2) 103/(Set : D)
o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U g7 % FUT 37 @ Y4 I Ghaa # @ [ 9777 {7 7 @@ & Yher 3 U 54
T 7 g 4 qar w&hHe T8 RAr aam
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examination.

G (7397 -
General Instructions :
() @ g7 IEart &

All questions are compulsory.

(i) 5 79797 7 Z7 34 Fo7 & A AW GOS] - o § G TH T E -

This question paper consists of 34 questions in all which are divided into

four Sections A, B, Cand D :

GE -9 57 GC 71 G 16 T 7 16 97 &, % 597 1 7% & &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G- §: 359 % F17 722 7% 37 6 J97 &, J9% J97 2 9% # &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G -39 @< 723 T30 7% F7 8 J97 &, 9% J97 4 5% F &1

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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(3) 103/(Set : D)
%€ - 757 G 431 @34 7% T 4 97 &, J9% F97 5 5 F &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(i) G- 7 & go7 7 ofani® fawey /7 79 81 37 @ & 597 B g &

Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

gug — 3
SECTION - A
1. f=fafad & § s9-d1 9= Ray 78 § ? 1
(a) 25 B) 23
(C) 36 (D) 2.40

Which of the following is not a rational number ?

(&) 25 B) 23
(C) 36 (D) 2.40
2. /=1 & H-a1 g faua ® 7 1

(A) (x—2) (x+ 1) = (x— 1) (x+ 3)
(B) 4x?+5=2x+7)>

(C) (x+1)? =2(x-3)

(D) (x+4)3 =3x(x+1)

103/(Set : D) P.T.O.



(4) 103/(Set : D)

Which of the following is a quadratic equation ?
(A) (x=2) (x+ 1) =(x=1) (x+3)

(B) 4x2+5=(2x+7)>

(©) (x+1)? =2(x-3)

(D) (x+4)° =3x(x+1)

3. A.P.7,13, 109, ..... & 1041 0§ ® : 1
A) 61 (B) 63
(C) 65 (D) 67

The 10th term of the A. P. 7, 13, 19, ..... is :

(A) 61 (B) 63
(C) 65 (D) 67
4. T[GRE x> -2x-8 & LI & : 1
@A) (2, -4 (B) (2,4)
©€) 2,4 (D) (4, 2)

The Zeroes of Polynomial x?-2x-8 are:

(A) (2, -4) (B) (2,4)

© 2,4 (D) (4, 2)
103/(Set : D)



(5) 103/(Set : D)

5. 3% 54 31X 336 F H.C.F. 68, @l S L. C. M. & : 1
(A) 3021 (B) 3022
(C) 3023 (D) 3024

If H. C. F. of 54 and 336 is 6, then their L. C. M. is :

(&) 3021 (B) 3022
(C) 3023 (D) 3024

6. aH THHTN & JH x— 2y + 5= 0T 3x— 6y + 10 = 0 & &7 & : 1
(A) offada T & (B) FE & &
(C) TR % & (D) & § Fig &

Solution of a pair of linear equations x— 2y + 5 =0 and 3x—- 6y + 10 = 0 will be :

(A) Unique solution (B) No solution
(C) Infinitely many solutions (D) None of these
7. 7sec’ A-T7tan’ A F 9N ? : 1
(A) 1 (B) 2
€ 5 (D) 7

The value of 7sec2 A-7 tan2 A is:
(A) 1 B) 2

€ 5 (D) 7

103/(Set : D) P.T.O.



(6) 103/(Set :
8. I U1 IEH WIREN % IS &g & ... Fed

The common point of a tangent to a circle and the circle is called ............. .

9. PBrear 2.8 T A a1y & N F TSH %A © ¢
(A) 98.98 (B) 97.56 a4

(C) 98.56 I (D) 98.38 A

Surface area of sphere of radius 2.8 cm is :
(A) 98.98 cm? (B) 97.56 cm?

(C) 98.56 cm? (D) 98.38 cm?

10. 0 IV I ProUEvE % GG 99 B T8 8

nr 0 nr O
A 3600 B T8o°
() ?’;:)9 (D) T & Fig e

Length of an arc of a sector of angle 0 is :

nr 0 nr 0

(A) . (B) .
360 180

(@) 2nr 6 (D) None of these
180°

103/(Set : D)
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11. I fFelt A. P. & X R 74T U8 shHST: 5 X O ¥, o 39 1147 U8 2 ¢ 1
A) 16 (B) 15
(C) 14 (D) 13

If 3rd and 7th term of an A. P. are 5 and 9 respectively, then its 11th term is :

(A) 16 (B) 15
(C) 14 (D) 13
12. F ¥ DE ||BCBI AD %l T8 1T Hiom| A 1

/\1.8@1?[
& £
7y/ \3.4%
B C

In figure DE || BC. Find the length of AD.

A
1.8 cm
D E
72c¢ 5.4 cm
B C

13. IR & g P& O 3= 9 f5l 99 W PA iR PB W@ WER 60° & HT W FH

g, @ ZPOA I & : 1
(A) 120° (B) 60°
(C) S0° (D) 70°

103/(Set : D) P.T.O.



(8) 103/(Set : D)
If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 60°, then ZPOA is equal to :

(A) 120° (B) 60°

(C) S0° (D) 70°

14. % 3 quEd B B @ GO 40 9 % AN H 21 7 B[S & &F%a P UK &
1

(A) 16:81 B) 2:3

€ 4:9 (D) 81:16

If corresponding sides of two similar triangles are in the ratio 4 : 9, then ratio of
their areas is :

(A) 16:81 (B) 2:3
(C) 4:9 (D) 81:16
15. fogaft (3, 1) 3R (8,6)% d= ® g ¢ : 1
A) 242 B) 32
(C) 42 (D) 52
The distance between the points (3, 1) and (8, 6) is :
(a) 242 B) 342
(©) 42 D) 542

103/(Set : D)
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16. 39 fig & Fewis s fagadl (4, —1) @0 (-2, -3) H SSH an @IS & AlD &7 4§
1:2% agua § faefoa & &, @ 1

v (39 0 (39

5 S
@ [2-3) o [-2-3)

The coordinates of the point which divides the line segment joining the points
(4, -1) and (-2, -3) in the ratio 1 : 2 internally are :

v (39 o (39

gug -9

SECTION - B

17. 3T 5 4++/5 TH STURAT HE B 2

Show that 4++/5 is an irrational number.
18.@@%@3%%%@@%%@@%%@&@?%% 2

Find the quadratic polynomial, the sum and product of whose zeroes are

J2 and% respectively.

103/(Set : D) P.T.O.
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19. 52 T %l T YR Bl T Th O Bl TSl § & Th U el Sl 3| q&LAE el ol
T & &l MRl A it 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a king card.

20. k% g A9 & foe fEEa @@ 262 +kx+3=0 & I9 aXER & 7 2
For what value of k the roots of the quadratic equation 2x2 +kx+3=0 are
equal ?

21. p & 8 AW & fo Frefoied W Tl & 39 &1 3 &7 787 & 7 2

3x+y=1

Cp-1)x+(p-1y=2p+1

For what value of p will the following pair of linear equations have no solution ?
3x+y=1
Rp-1)x+(p-1y=2p+1

22, WG AT NTHIAD o= 4 584 g WE, g0 & W@ A d9% 4 49 21 gq 6l
Brear s i 2

The length of a tangent from a point A at a distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.
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24.

25.

(11) 103/(Set : D)
e - g

SECTION -C

AN 3t arell fhae gt 5 F foueg § ? 4

How many three digit numbers are divisible by 5 ?

TF I H 3 A AN 5 FH S ¢l 30 A4 F F TH AT AGHAT BT ST &1 TR FA

iRt & % g 4
() o,
(ii) < el e 7

A box contain 3 red balls and 5 black balls. A ball is drawn at random from the

bag. What is the probability that the ball drawn is :

(i) red,

(i) notred?

10 7 B 9 T 99 B A SEl B G 60° H BT RN 31 W UGS H TG
S it 4

A chord of a circle of radius 10 cm subtends an angle of 60° at the centre. Find
the area of the corresponding sector.

103/(Set : D) P.T.O.



26.

27.

28.

29.

(12) 103/(Set : D)
IR e AT F I eI qm e A d 1 90 @ T 1 & 980 a6l 81 IR & F Fad

mga,aws%awﬁ%mmamaam 4

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to denominator. Find the fraction.

=T ferre EHIeRoT & el @l Sl S B IR g g9 B, A & Al hioid 4
9x% —6x+1=0

Find the nature of roots of the following quadratic equation. If real root possible,

then solve it :

9x2 —6x+1=0

18 M &F UF FHER T F SO0 MR § F IR H Th [ J31 goTl & T aR & gad
R o G2 & e g1 21 EH B R ¥ G A e g W Ml WY 6 a) o @
STefh O & dE 24 H B 4

A wire attached to a vertical pole of height 18 m is 24 m long and has a stake
attached to the other end. How far from the base of the pole should the stake be

driven so that wire will be taut ?
x & A T B, AR /g A7, -2), B(5, 1) 3R O3, x) @ B 4

Find the value of x, if the points A(7, —2), B(5, 1) and C(3, x) are collinear.
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30. IR A, BAR CRYS ABC & a1 @), o fResy F : 4

(A + Bj . C

cos =sin—

2 2
If A, Band C are interior angles of a triangle ABC, then show that :

(A + Bj . C

cos =sin—

2 2

qls -
SECTION -D

31. T H Th HYA T o & AHR B ol Foresdh a1 B T Th-Uh AN 1 8T &1 R
$HA B dar 14 Bl & oIk SEa & 5 el 31 S O &6 S St 5

A medicine capsule is in the shape of a cylinder with two hemisphere struck to
each of its ends. The length of entire capsule is 14 mm and diameters of the

capsule is 5 mm. Find its surface area.

YqT

OR

Bregr 3.5 A4l A o1 & TF Mol H e Begr 5 8l ad T 9o & ®9 F S S
B I H SAR T BT

A metallic sphere of radius 3.5 cm is melted and recast into the shape of a

cylinder of radius 5 cm. Find the height of the cylinder.

103/(Set : D) P.T.O.



32.

33.

34.

(14) 103/(Set : D)
Frefefed @l fell die & 25 9RERT § A5 W gU 3% @g & a9 ol \eH W)

g3 e Y §I FioT 5
3 = (Bwr H) 100-150 | 150-200 | 200-250 | 250-300 | 300-350
uRart = e 4 5 12 2 2

The table below shows the daily expenditure on food of 25 households in a

locality. Find mean daily expenditure on food :

Daily Expenditure (in %) 100-150 | 150-200 | 200-250 | 250-300 | 300-350

Number of Households 4 5 12 2 2

5 Gl Brear &1 T g9 St 91 & 4 9 A9 ¥ Rud 0 fag | g9 W wmsiEr g @l
T HIT T I T=ar A 5

Draw a circle of radius 5 cm. From a point 9 cm away from its centre, construct

the pair of tangents to the circle and measure their lengths.

8 o A Mo » REX q U Bad FaX & REY H IAT HI 45° & I 36D UG H
T BT F 45° 31 AT B HAR G B 5

From the top of a 8 m high building, the angle of elevation of the top of a cable
tower is 45° and the angle of depression of its foot is also 45°. Determine the

height of the tower.
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SAYdT
OR
s FifrT
1+s%nA =secA+tanA
1-sinA
Prove that :
1+s%nA =secA+tanA
1-sinA
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